Best model for HELP J104048.224+570802.674 at z = 0.276 x2=1.51
OPTx2=1.25 IRy?=2.95 threshold (OPT IR)=10.21 [um]

Stellar attenuated
2 S Stellar unattenuated
10 E . —— Dust emission
] . —— AGN emission
= Model spectrum
1 ® Model fluxes
101 3 M oObserved fluxes
— ]
> ]
€ 100
£ 10° 4
< ]
=
o ]
10714
1072 3 ¢

pa ] :

= 1 :

Y— 1 _ - \

© 1 —4= (Obs-Mod)/Obs

S ]

i) ]

n 1 L

] 0 e ——— [—— - [ — —— e e ———————————————

o ]

g ]

S ]

o — 1 T —— CiGEAL

()

(o'

10° 10! 102 103 10% A
Observed wavelength [um]



